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OBJECT OF RESEARCH. 


The object of research in this work are three-phase network Y circuit (Fig.1).

Equipment

1. The main module.
2. Resistor block.

3. Capacitor block.
4. Wires.

5. Multimeters.

The workflow

1. Connect circuit Fig. 1. 

2. Measure linear voltage UAB, UBC, UCA. Use multimeter in the main block.
3. Do the following experiments:

a) Symmetrical resistance load with neutral wire ZA = ZB = ZC. 
To get this load, switch on the network, set the switches S1 and S2 to “1”. Change the resistor block R7 to the extent so that the current IA (shown by ammeter A1) is equal to IC (indicated by ammeter A2). To measure the current IB and IN, set the switches S1 and S2 to “2”. Now the ammeter A1 shows the current IB and the ammeter A2 shows the current IN. To measure the voltage UA, UB, UC use Voltmeter V: X14 (UA), X19 (UB), X20 (UC); Write the data in the table 1;

b) Symmetrical resistance load without neutral wire ZA = ZB = ZC.
Without changing anything, remove the wire from the “O” (X12) slot and plug in the main block in control lamp. Measure currents and voltages using instructions (a) to measure currents and voltages. Write the data in the table 1;

c) Asymmetrical resistance load with neutral wire ZA ( (ZB = ZC).
Return the plug of wire that you removed in the previous experiment (b) to the “O” (X12) slot. Make sure the switches S1 and S2 are in position “1”. Change the resistance R7 (increase) so that the ammeter A1 readings differ significantly from the ammeter A2 readings. Measure currents and voltages and record data in a table 1;

d) Asymmetrical resistance load without neutral wire ZA ( (ZB = ZC).
Without changing anything, remove the wire from the “O” (X12) slot and plug in the main block in control lamp (as you did in experiment (b)). Write the data in the table 1;

e) Symmetrical capacitance load with neutral wire ZCapacitance = ZB = ZC.
Return the plug of wire that you removed in the previous experiment (d) to the “O” (X12) slot. Change the resistor block to the capacitor block. Make sure the switches S1 and S2 are in position “1”. Change capacitor block capacity so that the current IA (shown by ammeter A1) is equal to IC (indicated by ammeter A2). To measure the current IB and IN, set the switches S1 and S2 to “2”. Write the data in the table. To calculate the power of phase A in experiment (e), record the capacitor capacity C, (F and the value of resistor R1;
C=

(F;
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Fig. 1. Experiment circuit
1. Table. Results
	Experiment
	IA, A
	IB, A
	IC, A
	IN, A
	UA, V
	UB, V
	UC, V

	a
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3. Make calculations.
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2. Table. Calculations
	Experiment
	PA, W
	PB, W
	PC, W
	P, W

	a
	
	
	
	

	b
	
	
	
	

	c
	
	
	
	

	d
	
	
	
	

	e
	
	
	
	


4. Draw phasor diagrams of all experiments.
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c)





d)
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e)

Make conclusions:

